رمز المقرر: 4-4041101 المتطلب السابق: لا يوجد

الفصل الدراسي الثالث 1444هـ



جامعة أم القرى

كلية العلوم التطبيقية

قسم العلوم الرياضية

### الخطة الدراسية لمقرر: تفاضل وتكامل (Calculus I)

Weeks	Chapters	Sections	Topics
		1.2	Exponents and Radicals
1	E l	Precalculus, 6th	Examples: 1, 2, 3, 5, 8 and 10.
1	Fundamentals	Edition, Stewart	Exercises: 15, 17, 21, 23, 35, 37, 49, 55 and 57.
		1.5	Solving Equations
		Precalculus, 6th	Examples: 1, 4, 5, 6, 7 and 8.
		0.2	Inequalities and Absolute Values
		Calculus 9th Edition	Examples: 1 2 3 4 5 8 9 and 13
	Fundamentals	Purcell	Exercices: 1, 3, 11, 13, 17, 21, 25 and 39.
2	1 undamentais	0.3	Distance Formula and Circle Equation
		Calculus, 9th Edition,	Examples: 1, 2, 3, 5, 6, and 7.
		Purcell	Exercises: 11, 13, 17, 23, 25, 29, 33, 35 and 39-(a,b,c,d).
			Functions (Domain, Range, Graphing Functions, etc)
		Calculus, 9th Edition,	Examples: 1, 2, 4-(a) and 5. Exercises: $0$ 13, 15, 17 and 21
3	Functions	0.6	Operations of Functions
		Calculus 9th Edition	Examples: 1 2 3 and 4
		Purcell	Exercises: 1, 11 and 15.
		0.7	Trigonometric Functions and Identities
	Functions	Calculus, 9th Edition,	Examples: 5 and 6.
4		Purcell	Exercises: 9, 11, 27 and 29.
	Limits and		Introduction to Limits
	Continuity	Calculus, 9th Edition, Purcell	Examples: 1, 2 and 5-(Example for one-sided limits). Exercises: 1, 3, 7, 8, 11 and 43-(a, b)
		1.3	Limits Theorems (Theorems A, B, C and D)
		Calculus, 9th Edition,	Examples: 1, 2, 3, 4, 5, 6, 7, 8 and 9.
5	Continuity	Purcell	Exercises: 1, 5, 9, 13, 15, 19 and 27.
	Continuity	1.5	Limits at Infinity and Infinite Limits
		Calculus, 9th Edition,	Examples: 1, 2, 3, 5, 6 and 7.
		Purcell	Exercises: 2, 3, 27, 29, 31 and 45.
	Limits and	1.0 Calculus Oth Edition	Examples: 1, 2, 2, 4, 5, 6 and 7
	Continuity	Purcell	Examples: 1, 2, 5, 4, 5, 0 and 7. Exercises: 1, 9, 11, 13, 15, 27 and 31
6		2.2	Definition of Derivative
	Differentiation	Calculus, 9th Edition,	Examples: 1, 2, 3, 4, 5 and 6.
		Purcell	Exercises: 1, 3, 5, 7, 11, 13 and 19.
		Μ	lidterm Exam
		2.3	Rules for Finding Derivatives
7		Calculus, 9th Edition,	Examples: 1, 2, 3, 4, 5 and 6.
	Differentiation	Purcell 2 4	Exercises: 1, 5, 9, 11, 15, 27, 29, 39 and 43. Derivative of Trigonometric Functions
	Differentiation	2.4 Calculus Oth Edition	Examples: 1, 2, 3, 4, 5, 6, 7 and 9
		Purcell	Exercises: 1, 2, 5, 4, 5, 6, 7 and 6. Exercises: 1, 3, 5, 7, 9, 11, 13, 15, 17 and 19.
		2.5	Chain Rule
		Calculus, 9th Edition,	Examples: 1, 2, 3, 4, 5, 6, 7, 8, 9 and 10.
		Purcell	Exercises: 1, 3, 5, 7, 9, 11, 13, 15, 17, 21, 23, 33 and 39.

		2.6	Higher Order Derivatives
0	Differentiation	Calculus, 9th Edition,	Examples: 1, 2, 3 and 4.
0	Differentiation	Purcell	Exercises: 1, 3, 5, 7, 9, 11 and 19.
		2.7	Implicit Differentiation
		Calculus, 9th Edition,	Examples: 1, 2, 3 and 4.
		Purcell	Exercises: 1, 3, 5, 7, 9, and 11.
			Maxima and Minima
These		<b>3.1</b> , <b>3.2</b> , <b>3.3</b> and <b>3.5</b>	Monotonicity
I nese sections must		Calculus, 9th Edition,	Local Maxima and Minima
be read	d by students	Purcell	Concavity and Inflection Points
			Extending the Concept of Limits to Infinity
			Sketching the Graphs
		3.8	Antiderivatives (Indefinite Integrals)
9	Integration	Calculus, 9th Edition,	Examples: 1, 2, 3, 4, 5 and 6.
		Purcell	Exercises: 2, 5, 9, 11, 15, 25, 29 and 33.
		4.4	Definite Integrals and the Second Fundamental Theorem
		Calculus, 9th Edition,	Examples: 1, 2, 3, 4, 5, 7, 8, 9, 10 and 12.
		Purcell	Exercises: 1, 3, 5, 7, 9, 11, 14, 17 and 21.

#### المراجع (References):

1- Calculus (9th Edition), Dale Varberg, Edwin Purcell and Steven Rigdon, Prentice Hall (2006).

2- Mathematics for preparatory year program (Book1), Oxford University Press (2013).

3- Stewart, James, Lothar Redlin, and Saleem Watson. Precalculus: Mathematics for calculus. Cengage Learning, 2015.

الدرجة	نوع التقييم
10	مشاركة، واجبات واختبارات قصيرة
10	اختبار منزلي
30	اختبار نصفي
50	اختبار نحائي

### **1.2** EXPONENTS AND RADICALS

(ab) = a b

Jab = Ja Jb



 $\frac{\chi^3}{y^2} = \frac{\sqrt{\chi^3}}{\sqrt{y^2}}$ 

 $(a+b)^{2} \neq a^{2}+b^{2}$ 





daws of exponents und'inclué D الاسن في حاله الون تيج  $a^{m} \cdot a^{n} = a \qquad 2^{3} \cdot 2^{2} = 2$  $\frac{a^{m}}{a^{n}} = a^{m-n} \qquad \frac{2^{3}}{2^{5}} = 2^{2} = 2^{-1} = 1$ (3) اسس الاسس يتحول, ک عزب  $(a^m)^n = a^{m,n} (a^3)^3 = 2^n$ الاسم الكسون و تحومه اى جذور  $= \sqrt[3]{5^2} = (\sqrt[3]{5})^2 \sqrt[3]{\alpha^{4}} = \alpha^{\frac{4}{3}}$ 2/3 5  $\begin{array}{c} m/n \\ \alpha &= \sqrt{\alpha} \\ q'^2 \\ q''^2 \\ = \sqrt{q} \\ = 3 \end{array} \qquad \begin{array}{c} \sqrt{2^3} \\ \sqrt{2^$  $\frac{-1}{3}$   $64 = \frac{1}{64^{1/3}} = \frac{1}{3\sqrt{64}} = \frac{1}{4}$ 

**EXAMPLE 1** | Exponential Notation  
(a) 
$$(\frac{1}{2})^5 = (\frac{1}{2})($$

### **EXAMPLE 5** Simplifying Expressions with Negative Exponents

Eliminate negative exponents and simplify each expression.

(a) 
$$\frac{6st^{-4}}{2s^{-2}t^2}$$
 (b)  $\left(\frac{y}{3z^3}\right)^{-2}$   
(a)  $\frac{6st^{-4}}{2s^{-2}t^2} = 35t^{-2} - 4 - 2$   
(b)  $\left(\frac{y}{3z^3}\right)^{-2} = 35t^{-2} - 4 - 2$   
(c)  $\frac{3}{2} - 4 - 2 - 2$   
(c)  $\frac{3}{2} - 4 - 2 - 2$ 

b) 
$$\left(\frac{y}{3z^3}\right)^{-2} = \left(\frac{3z^3}{y}\right)^2 = \frac{3^2(z^3)^2}{y^2} = \frac{9z^6}{y^2}$$

**EXAMPLE 8** Simplifying Expressions Involving *n*th Roots (a)  $\sqrt[3]{x^4} = \sqrt[3]{x^3x}$  Factor out the largest cube  $= \sqrt[3]{x^3}\sqrt[3]{x} \qquad \text{Property 1: } \sqrt[3]{ab} = \sqrt[3]{a}\sqrt[3]{b}$  $= x\sqrt[3]{x}$  Property 4:  $\sqrt[3]{a^3} = a$ (b)  $\sqrt[4]{81x^8y^4} = \sqrt[4]{81}\sqrt[4]{x^8}\sqrt[4]{y^4}$  Property 1:  $\sqrt[4]{abc} = \sqrt[4]{a}\sqrt[4]{b}\sqrt[4]{c}$  $= 3\sqrt[4]{(x^2)^4}|y|$  Property 5:  $\sqrt[4]{a^4} = |a|$ =  $3x^2|y|$  Property 5:  $\sqrt[4]{a^4} = |a|, |x^2| = x^2$  $= {}^{3}X^{3}X' = {}^{3}\sqrt{x^{3}}.{}^{3}X'$ 3/ × 4 a) X<sup>---</sup> X<sup>---</sup>  $= X \times \frac{1}{3} = X \sqrt{3}$ b)  $\sqrt[4]{81}x^{8}y^{4} = \sqrt[4]{81} \cdot \sqrt[4]{x^{4}}$ . 1 94 3 x y 3

EXAMPLE 10 Using the Definition of Rational Exponents  
(a) 
$$4^{1/2} = \sqrt{4} = 2$$
  
(b)  $8^{2/3} = (\sqrt[3]{8})^2 = 2^2 = 4$  Alternative solution:  $8^{3/3} = \sqrt[3]{8^2} = \sqrt[3]{64} = 4$   
(c)  $125^{-1/3} = \frac{1}{125^{1/3}} = \frac{1}{\sqrt[3]{125}} = \frac{1}{5}$  (d)  $\frac{1}{\sqrt[3]{x^4}} = \frac{1}{x^{4/3}} = x^{-4/3}$   
a)  $4^{1/2} = \sqrt{4} = 2$   
b)  $8^{-2/3} = \sqrt{4} = 2$   
b)  $8^{-2/3} = \sqrt{4} = 2$   
c)  $125^{-3} = -\frac{1}{125^{1/3}} = \frac{1}{\sqrt{125}} = \frac{1}{5}$   
 $5x5x5$   
d)  $\frac{1}{\sqrt[3]{x^4}} = -\frac{1}{\sqrt{3}}\frac{\sqrt{3}}{\sqrt{5}} = -\frac{\sqrt{3}}{\sqrt{5}}$ 

# 1.2 EXERCISES **15–24** ■ Evaluate each expression. $^{15.}$ (a) −3<sup>2</sup> = −(3<sup>2</sup>) = −(3×3) = −9 **17.** (a) $\left(\frac{5}{3}\right)^0 2^{-1} = \frac{1}{2} \times 2^{-1} = \frac{1}{2!} = \frac{1}{2}$ **1.** (a) $\sqrt{\frac{4}{9}} = \sqrt{\frac{\sqrt{4}}{24}} = \frac{2}{\sqrt{3}}$ **23.** (a) $\binom{4}{9}^{-1/2} = \left(\frac{q}{4}\right)^{1/2} = \left(\frac{q}{4}\right) = \frac{1/2}{4} = \frac{1}{\sqrt{4}} = \frac{1}{\sqrt{4$ 35–40 ■ Simplify each expression. 35. (a) $x^8x^2 = x^{10}$



**49.** (a)  $\frac{8a^3b^{-4}}{2a^{-5}b^5} = 4a^{-5}b^{-4-5}b^{-4-5}$  $= 4a^{8}b^{-9}$  $=\frac{4a^8}{b^9}$ **55.**  $\sqrt[4]{16x^8} = 4\sqrt{16} \cdot \sqrt[4]{x^8}$ = 2 • X  $= 2 \times^{2}$ <.57. √64 $a^{6}b^{7} = 6/64 6/a^{6} 6/b^{7}$  $= 2 CL b^{6/6} = \frac{7}{6}$ = 2ab 716



	Factorization	التحليل	الع الق
x²- (x -7	6x - 7 = 0 $J(x + 1) = c$	,	0 X=7 0 X=-(
Completing H	ne square	الحال, عربح	الطريقة (2)
$\frac{x^2 - 6x}{\left(x - 3\right)^2}$	$\begin{array}{rcl} - + = 0 \\ 9 &= 7 + 9 \\ \vdots \\ = \sqrt{16} \end{array}$	x <sup>2</sup> بنعب ( <u>ل</u> ع) <sup>2</sup> ( ح) <sup>2</sup> (	() متسم می معام (2) نئمتل ک ۱ (3) نجمع العرميز (2-)
x - 3 $x - 3 = 4$ $x = 3 + 4$	$= \pm 4$ $= - 4$ $\times - 3 = - 4$ $\times = - 4 + 3$	ای کریمی کال	(۲) مزل لمطوف اسر (۲) معلى كمعاد لتى
X=7 Quadratic Formu	$ \begin{aligned} x &= -1 \\ \text{Ja} \\ x &= -b \pm , \end{aligned} $	ال مايعل بله <u>62-42</u>	طريق (3)
		2a	



<b>EXAMPLE 1</b> Solving a Linear Equation
Solve the equation $7x - 4 = 3x + 8$ .
7x - 3x = 8 + 4
4x = 12 $X = 3$
4
<b>EXAMPLE 4</b> Solving a Quadratic Equation by Factoring $\alpha x^2 + b x + c = c$
Solve the equation $x^2 + 5x = 24$ .
$x^{2} + 5x - 24 = 0$ - 24 and increase in
(X + 8)(X - 3) = 0
X + 8 = 0 X - 3 = 0
X = -8 $X = 2$
EVAMPLE E Solving Simple Quadratics
Solve sock servetion
Solve each equation. (a) $x^2 = 5$ (b) $(x - 4)^2 = 5$
(a) $x = 5$ (b) $(x = 4) = 5$
$\sqrt{2}$ $F$ $\sqrt{2}$ $F$
$x = \pm 15$
$  \cdot \rangle = \left[ \left[ \left( \cdot \cdot \cdot \right)^2 \right] \right] = \left[ \left[ \left[ \left( \cdot \cdot \right)^2 \right] \right] \right] = \left[ \left[ \left( \cdot \cdot \right)^2 \right] \right] = \left[ \left[ \left( \cdot \cdot \right)^2 \right] \right] = \left[ \left[ \left( \cdot \cdot \right)^2 \right] \right] = \left[ \left[ \left( \cdot \cdot \right)^2 \right] \right] = \left[ \left[ \left( \cdot \cdot \right)^2 \right] \right] = \left[ \left[ \left( \cdot \cdot \right)^2 \right] \right] = \left[ \left[ \left( \cdot \cdot \right)^2 \right] = \left[ \left( \cdot \cdot \right)^2 \right]$
$\int (x - y) = \int x - y = = \int x$
$X - Y = + J 5 \qquad X - Y = - J 5$
X = 15 + 4 $X = -15 + 4$

	حل کمادنہ باکتال اع بہ	
<b>EXAMPLE 6</b>   Solving Quadratic Ed	nuations by Completing	
the Square	functions by completing	
Solve each equation.		
(a) $x^2 - 8x + 13 = 0$ (b) $3x^2 - 12x + 3x^2 - 3x^2 $	-6 = 0	
a) $\chi^2 = 8\chi + 16 = -13$	+16 /-8	$)^{2} = 16$
		フ
2	-	
(X - 4) = 3		
_		
		<b>~</b>
$\int (x - 4)^{-} = \sqrt{3}$	(x-y)=t	J 3
		。 ~~
	X_4=+J3 X.	-u =J3
	$X = \sqrt{3+4}$ X	= - [3+4
$(x) = 2x^2 - 12x^2 + 6 - 0$	306 114	15 50
b) $3x^2 - 12x + 6 = 0$	عمد عمح	نتہ ک
b) $3x^2 - 12x + 6 = 0$	کمارنے عکرج	ن متہ ک
b) $3x^2 - 12x + 6 = 0$ $x^2 - 4x + 2 = 0$	کمارنے عکج	ن متہ ک
b) $3x^2 - 12x + 6 = 0$ $x^2 - 4x + 2 = 0$	<mark>کھار</mark> دے عک <del>ر</del> ج	ں نتے کل
b) $3x^2 - 12x + 6 = 0$ $x^2 - 4x + 2 = 0$	<u>کمار</u> دے عک 3 ( ۱	ں نتہ کل <u>1</u> ک <sup>2</sup> = 4
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$	کھادنہ عمر ج 	$\frac{4}{z} = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$	302 232 -2 +4	$\frac{4}{2} = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$	302 2025 -2 +4	$(\frac{4}{2})^2 = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$	302 2025 -2 +4	$(1 - \frac{1}{2})^2 = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$	302 202 -2 +4 2	$\frac{4}{z} = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$	302 202 -2 +4 2	$\frac{4}{2} = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$	3 m c 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	$\frac{4}{z} = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$	3 m c 2 3 m c - 2 7 4 (- 2 2	$(1 - \frac{1}{2})^2 = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$	302 2 -2 +4 2 + 15	$(1 - 1)^2 = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$ $((x - 2)^{2} = 0)$ x - 2 = 0	$\frac{3}{2}$	$(1 - \frac{1}{2})^2 = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$ x - 2 = 0	$\frac{3}{2}$	$(1 - \frac{1}{2})^2 = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$	$3\sqrt{2}$ $-2 + 4$ $2$ $2$ $\pm \sqrt{2}$ $\sqrt{2}$	$\frac{4}{z} = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$ x - 2 = 0 x - 2 = 0	$3x^{2} = -\sqrt{2}$ $2$ $2 = -\sqrt{2}$ $x - 2 = -\sqrt{2}$	$\frac{1}{z}^{2} = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$ x - 2 = 0 x - 2 = 0 x - 2 = 0 x - 2 = 0	$3\sqrt{2}$ $2 + 4$ $2$ $2$ $4 + \sqrt{2}$ $x - 2 = -\sqrt{2}$ $x = -\sqrt{2} + 2$	$\frac{1}{2} = 4$
b) $3x^{2} - 12x + 6 = 0$ $x^{2} - 4x + 2 = 0$ $x^{2} - 4x + 4 = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$ $(x - 2)^{2} = 0$ x - 2 = 0 x - 2 = 0 x - 2 = 0 x - 2 = 0	$3\sqrt{2}$ $2$ $2$ $2$ $2$ $2$ $2$ $2$ $2$ $2$ $2$	$\left(\frac{1}{2}\right)^2 = 4$



استحذكم الحيير لمعرفه الجذور الحفيقة Using the Discriminant Use the discriminant to determine how many real solutions each equation has. (a)  $x^2 + 4x - 1 = 0$  (b)  $4x^2 - 12x + 9 = 0$  (c)  $\frac{1}{3}x^2 - 2x + 4 = 0$ a)  $D = b^2 - 4ac = 16 - 4(1)(-1) = 16 + 4 = 20$ ailstinct real solution b)  $D = (-12)^2 - 4(4)(a) = 144 - 144 = 0$ D=0 Jol Jol Jol One real Solution C)  $D = (-2)^2 - (4)(\frac{1}{3})(4) = \frac{14}{3}$ = 12 - 16 = -4 D<0 and No real solutions



15. -7w = 15 - 2w

-7W + 2W = 15

-5W = 15

$\omega =$	15	_	- 3
	-5		د

### تحيل

<b>43–54</b> ■ Solve the equation b		
<b>43.</b> $x^2 + x - 12 = 0$	<b>44.</b> $x^2 + 3x - 4 = 0$	
<b>45.</b> $x^2 - 7x + 12 = 0$	<b>46.</b> $x^2 + 8x + 12 = 0$	
<b>47.</b> $4x^2 - 4x - 15 = 0$	<b>48.</b> $2y^2 + 7y + 3 = 0$	
<b>49.</b> $3x^2 + 5x = 2$	<b>50.</b> $6x(x-1) = 21 - x$	
 <b>51.</b> $2x^2 = 8$	<b>52.</b> $3x^2 - 27 = 0$	
<b>53.</b> $(3x + 2)^2 = 10$	<b>54.</b> $(2x - 1)^2 = 8$	

$(43) \chi^2 + \chi - 12$	-0	51)	$2x^2 = 8$ $\overline{2}  \overline{2}$	
(x+y)(x	-3)=0		$\int \chi^2 = \int \Psi$	
X . U= 0	×-2-0		$\chi = +2$	
X=-4	X=3			

53)  $(3x+2)^2 = 10$   $3x+2 = \pm 10$  $\frac{3x}{3} = \pm \sqrt{10} - 2$  $X = \pm \frac{10-2}{3}$ 

		الجك ع بھ	
55-6	<b>2</b> Solve the equation by $\mathbf{I}$	completing the square.	
<b>55.</b> x	$x^2 + 2x - 5 = 0$	<b>56.</b> $x^2 - 4x + 2 = 0$	
 57. x	$x^2 - 6x - 11 = 0$	<b>58.</b> $x^2 + 3x - \frac{7}{4} = 0$	
 59. 2	$2x^2 + 8x + 1 = 0$	<b>60.</b> $3x^2 - 6x - 1 = 0$	
 61. 4	$4x^2 - x = 0$	62. $x^2 = \frac{3}{4}x - \frac{1}{6}$	
		4.0 8	
55)	$\chi^2 + 2\chi - 5 = 0$	x2+2x+1	= 5+1
	$\chi^2 + 2 \times \gamma = 6$	$(x + 1)^{2}$ =	= 6
			<b>.</b>
	$x+1 = \pm \sqrt{6}$	x = + JE - 1	
		$x = -\sqrt{6} + 1$	
54)	$2x^2 + 8x + 1 = 0$	x2+4x+1	=0
	12 2	2	
		(	$\left(\frac{b}{2}\right)^2$
	$\chi^2 + 4\chi + 4 =$	-12 +4	
 	2		
	$\int (x+2) =$	∫ <u>₹</u> x+2=	± ] <u>7</u> = ± [ <u>14</u> 2 = ± [ <u>14</u>
		·	
	$x + 2 - + \sqrt{10}$	и И	
	2		
	$\chi - + [w]$		
		- 6	

63–78 ■ Find all real solution	as of the quadratic equation.
<b>63.</b> $x^2 - 2x - 15 = 0$	<b>64.</b> $x^2 + 5x - 6 = 0$
<b>65.</b> $x^2 - 7x + 10 = 0$	<b>66.</b> $x^2 + 30x + 200 = 0$
67. $2x^2 + x - 3 = 0$	<b>68.</b> $3x^2 + 7x + 4 = 0$
<b>69.</b> $3x^2 + 6x - 5 = 0$	<b>70.</b> $x^2 - 6x + 1 = 0$
$(5) \chi^2 - 7 \times + 1$	0=0
	2
X S	x-2-c
×-5=0 X=5	X=2
$6q) 3x^2 + 6x - 9$	5 a=3 b=6 c=-5
2(ニーレナ、	52-4ac
2	.a
= -0.2	$\int \frac{36}{(4x 3x-5)} = -6 \pm \int \frac{36}{60} + 60$
	6
= - 6	$5 \mp \sqrt{95} = -6 \pm \sqrt{95}$
	6 6 6
= -1	± <u>J96</u>
	6

**79–84** ■ Use the discriminant to determine the number of real solutions of the equation. Do not solve the equation. **79.**  $x^2 - 6x + 1 = 0$ **80.**  $3x^2 = 6x - 9$ **32.**  $3x^2 - 6x + 9 = 6$ into 79)  $b^2 - 4ac = (-6)^2 - (4X | x |)$ 36 - 4 = 32there are Two distinct real solution 8) a=3 b=-6 C=9  $O = (-6)^2 - (4 \times 3 \times 6)$ 36 - 108 = -72No real solution









	Absolute Value	العتيم الملقه إ
	51 = 5	-5  = 5
		متعلفة المعتمه المفلقة
¥	ab  = 1911b1 =D	3x  =  3   x  = 3 x
*	$\begin{vmatrix} q \\ b \end{vmatrix} = \frac{ a }{ b } \Longrightarrow$	$\left \frac{-4}{b}\right  = \frac{1-41}{1b1} = \frac{4}{1b1}$
¢	$ a+b  \leq  a + b $	$\begin{vmatrix} -3+5 \\ 2 \\ \leq 3+5 \end{vmatrix}$
K	a-b  ≥   a -lb	$\begin{vmatrix} 5-3 \\ 8 \geqslant 2 \end{vmatrix}$
ر ار با (	$ X  < a \Rightarrow -a$ $ X  > a \Rightarrow b$	$< x < a$ $ x  < 5 = b - 5 < x < 5$ $\xrightarrow{-5} + 5$ $x < -a \qquad x > a$ $ x  > 5 = b \qquad x < -5, \qquad x > 5$





## **Problem Set 0.2**





### 13) $2x^2 + 5x - 3 > 0$









In Problems 35-44, find the solution sets of the given inequalities.	
<b>35.</b> $ x - 2  \ge 5$	<b>36.</b> $ x + 2  < 1$
<b>37.</b> $ 4x + 5  \le 10$	<b>38.</b> $ 2x - 1  > 2$
<b>39.</b> $\left \frac{2x}{7} - 5\right  \ge 7$	<b>40.</b> $\left \frac{x}{4} + 1\right  < 1$
24	$2 \times 5 \sim 7$
7 - 5 = - +	$\frac{2}{7}$ $\frac{1}{7}$ $\frac{1}{7}$ $\frac{1}{7}$
$2 \times < -2$	2x > 12
	T T
$\chi \leq -2 \times 7$	X > 42
2 X < - 7	F
<	42
-1	
$(-\infty, -7] \cup \lfloor 42, \infty )$	







معادله الخط المستقبم  $y - y_1 = m(x - x_1)$ ×2 92 ×1 31 (3.2) (8,4)  $m = \frac{y_{2} - y_{1}}{y_{2} - x_{1}} = \frac{4 - 2}{8 - 3} = \frac{2}{5} = \frac{2}{2 - 5}$  $y - y_1 = 2.5(x - x_1)$ y - 2 = 2.5(x - 3)**EXAMPLE 5** Find an equation of the line through (-4, 2) and (6, -1). اعتبه معادله الخعل ×, y, ×2 y2 (-4,2) (6,-1) $\mathcal{J} - \mathcal{J}_{I} = m(x - x_{I})$  $m = \frac{y_{z-y_{1}}}{x_{z-x_{1}}} = \frac{-1-2}{6-4} = \frac{-3}{10}$  $y - 2 = -\frac{3}{10}(x + 4)$ س داعاً ری m هو (لعرد اعروب ج x سکونه ستن اعمادنه = y حرزما y = 3x + 5M-3 9-5X-1 m=5 2y = (0x - 2)

ای خطبنی متوازمین ( Parallel ) بکود  $m_1 = m_2 = 1 \rightarrow 1$ (Perpendicular) اع خصن متعامدين بكون دسل، لاوں <u>- - ا</u> صل, لتا تو  $m_2 = \frac{1}{m_1}$ **EXAMPLE 6** Find the equation of the line through (6, 8) that is parallel to e line with equation 3x - 5y = 11. the line with equation 3x - 5y = 11. (m,) jie de come 3x - 5y = 11  $\frac{y-3x+11}{5}$  $m_1 = \frac{3}{5}$ جي بالنفعة (6, 8)= mz  $g-g_1 = m(x-x_1)$ y - 8 = = = (x - 6)

**EXAMPLE 7** Find the equation of the line <u>through</u> the <u>point of intersection</u> of the lines with equations 3x + 4y = 8 and 6x - 10y = 7 that is perpendicular to the first of these two lines (Figure 16). 3×+44=8  $y-y_1 = m(x-x_1)$ -6x - 10y = 7-1 - M2 bil 10  $3 \times + 4y = 8$ y =-<u>3</u>×+  $m_{l} = -\frac{3}{4}$  $m_2 = \frac{4}{3}$   $y_-y_1 = m(x_-x_1)$ y-+ = + (×-2) ت، وي حداده , كخفن محاب نعظ التقاط  $(3x + uy = 8) \times 2$  $6 \times -109 = 7$ -6x - 8y = -16 -189 = -9 $y = -\frac{q}{-18} = \frac{1}{2}$ 3×+4(之)=8  $3 \times = 6 \qquad \times = 2$ 



In Problems 17-22, find the center and radius of the circle with the given equation. 17.  $x^2 + 2x + 10 + y^2 - 6y - 10 = 0$   $(\overset{b}{z})^2$   $x^2 + 2x + 1 + y^2 - 6y + q = 10 - 10 + 1 + q$   $(x + 1)^2 + (y - 3)^2 = 10$ (enter (-1-3))  $Y = \int 10^{-10} + 1 + q$ 



2y - 6 = 6x - 1029 - 6x + 4 = 0In Problems 35–38, find the slope and y-intercept of each line. y=mx+(b **36.** -4y = 5x - 635. 3y = -2x + 135) 39 = -2x + 1 $\mathcal{Y} = -\frac{2}{3} \times + \left(\frac{1}{3}\right)$ y intercep= } بتعويف ٥- ٧ 6 يمتن م ن **39.** Write an equation for the line through (3, -3) that is (a) parallel to the line y = 2x + 5; (b) perpendicular to the line y = 2x + 5; (c) parallel to the line 2x + 3y = 6; (d) perpendicular to the line 2x + 3y = 6;  $y-y_1 = m(x-x_1)$  $y_{+3} = m(x - 3)$  $M_2 = M_1 = 2$ a) y + 3 = 2(x - 3) $m_1 = -\frac{1}{m_2} = -\frac{1}{2}$ b) 9+3 = -1 (x-3)

c) 2x + 3y = 6y = 6 - 2x m = -23 = 3 $y + 3 = -\frac{2}{3} (x - 3)$ d)  $y = \frac{6}{3} - \frac{2}{3} \times m_2 = -\frac{2}{3}$  $m_1 = \frac{3}{2}$  $y_{+3} = \frac{3}{2}(x-3)$